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Scientific Notation No. 1 

 
Express the following numbers in scientific notation: 
 
1. 121 = 

2. 14,500 = 

3. 200,500 = 

4. 0.048 =  

5. 68.569 = 

 
Express the following numbers in ordinary decimal notation:  
 
1. 2.46 x 104 = 

2. 6.73 x 10-3 =  

3. 2.348 x 102 = 

4. 5.32 x 10-4 = 

5. 3.5 x 106 = 

 
Multiply the following numbers expressing the answer in scientific notation: 
 
1. 102 x 105 = 

2. 104 x 10-2 = 

3. 105 x 10-9 = 

4. 102 x 108 x 10-3 = 

5. 10-7 x 10-5 x 104 = 

 



Divide the following numbers expressing the answer in scientific notation: 
 
1. 104/109 = 

2. 10-5/106 = 

3. 1014/104 = 

4. 105/102 = 

5. 10-5/10-12 = 

 
Add the following numbers and express the answer in scientific notation: 
 
1. (2.4 x 103) + (4.3 x 104) = 

2. (3.75 x 10-1) + (8.7 x 10-2) = 

3. (6.14 x 108) + (5.4 x 105) = 

4. (1.64 x 105) + (3.49 x 104) = 

 
Subtract the following numbers and express the answer in scientific notation: 
 
1. (2.4 x 104) - (3.6 x 104) = 

2. (5.35 x 10-2) - (6.0 x 10-3) = 

3. (8.8 x 104) - (4.2 x 103) = 

4. (1.68 x 102) - (3.36 x 101) = 

 


